milions | 100,000s | 10,000s | 1000s | 100s 10s 1s In order from smallest to largest 3T a5 s T5 s 5 1ol APrimenumber
has exactly 2
® .« © o B o
0043241 2764406 2870540 2t |22 [23 24 [25[ 26 [27 28 [29030] , oo - 4y 49
@—' J S ek ==Y 3132(33 /343536 |37 383940 o ioT T
41| 42 [43 |44 45|46 |47 | 48 | 49|50 Al
Stop and look. 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 1 and 3 are
What do you notice? @ 61 62|63 |64|65]|66|67 68)69]70 T
2 5 4 3 2 5 1 71|72 (73 |74 |75 |76 |77 | 78 | 79 | 80 of 16 and 21
two milion, five hundred and forty-three thousand, two hundred and fifty-two 81182 [y 84 |65 66 167 65 [y 90
2 millions, 5 hundred thousands, 4 ten thousands, 3 thousands, 2 hundreds, 5 tens and 2 ones B e 1913 @ GE e
0 g 0 ! ’ — 2 multiple of 3 and 5
Conf
V- A&
Multiplying and dividing by Ko ¢
M [HTh | TTh| Th 1006|10s | 1s & 15 | 150 |00 Y If I know..
10, 100 and 1000 fglw"sof then I also know... @
C g ) S 136 0B 7=8x7+10°88
% [ S X =8X /= = D!
greater move digits 1 place left 56,000 + 80 = 700
1138|600 move digits 3 places left
1 ] 24
<Ten times 136 2427 9r 3 2 | 48
smallgr/) 1¢3]6 move digits 1 place right " 24-| 3339 7 %
136 5 | 120
| 0 f 1136 move digits 2 places right q .1 8 | 192
&l
G506 24/33'39 000 [l
2+3=1 Round to the 5 or more - round up =
* 4 or less - round down
— S5 R . 2)643,278 —> 3,000,000 R 3339 - 24 = 13913 = 1393
-10 « 0 — 5 10 Q00, 200,
. i’ ey = 13913 ( to 2dp)
negative positive ey
Year 6 Term 1 ¥, y
N % 54
4 4 Reflect 4
(-4,3) % 8 X (4,8) 3 Translate the triangle in the 3
2 2 and in the i
1 1
548210 123 4 5 X 548401234 5 X 543219 123 4 5 X
=7 -2 =
(~4,-8) 8 X~ (4,-9) -3 M
-4 -4 -4
-5 -5 -5
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